
Epreuve 3 : La part à l’L 
 

In a word game a value is given to each letter. The score for a word 

and taking account of the special rules given in the table.
 

The final score of the word here is 70 points.

The value of the letter L is missing. 

 

 

What is the value of the letter L? Justify your answer.
 

In a word game a value is given to each letter. The score for a word is calculated by adding the valu

rules given in the table. 

The final score of the word here is 70 points. 

 

What is the value of the letter L? Justify your answer. 

is calculated by adding the values of the letters, 


